
Q = 150 tons

Distributed loads

12,15 m

Minimum length = 24,0 m

Load center of gravity
Load center of gravity must be within the colored areas corresponding to the load

Middle of Platform

Minimum length = 20,0 m

Minimum length = 16,0 m

Minimum length = 12,0 m

24,3 m

35 tons 35 tons

1,4 m 1,4 m

5,5 m 13,25 m

35 tons 35 tons

1,4 m 1,4 m

Point loads railcar 140 tons

4,5 m 4,5 m 5,8 m

70 tons 70 tonsQ = 140 tons

Other point loads can be applied on marked areas

5,6 m 5,0 m 5,4 m

60 tons 60 tonsQ = 120 tons

7,0 m 5,5 m 4,8 m

50 tons 50 tonsQ = 100 tons

8,3 m 6,0 m 3,8 m

40 tons 40 tonsQ = 80 tons
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A 5502 ACL Rolltrailer 80 feet, 140/150 tons loading diagram


